
	
  
 

For Technical Support / Assistance Please Cal 866-806-NFAB(6322) 
 

N-FAB Inc. – 14925 Stuebner Airline Rd. Suite 207 – Houston, TX 77069 
 

Installation Instructions 
T12LB/T12LH 

12-Up Toyota Tacoma 
 

 
Toyota Light Bar/Pre-Runner Installation Instructions 

 
Hardware Kit Contains:     Recommended Tools: 
(8) 5/16”  x  1”  Bolts                 Socket Set 
(8) 5/16”  Lock Washers     Torque Wrench 
(8)  5/16”  Nuts                  Wrench Set 
(2) T12 Inner Brackets      
 

Step 1:  Locate and remove the 3 nuts from the main bumper support on each side of the vehicle. 
The bumper support is aluminum in color and is held on with 2 nuts on the outer portion and 1 nut 
on  the  inner  portion  of  each  bracket  and  the  mounting  surface  resembles  a  “C”  shape. 
 
Step 2:  Place the T12 Inner Brackets onto the studs that remain exposed in Step 1. This step is easily 
achieved by moving the brackets into place from the opening in front of each wheel. Once the 
brackets are in place, reuse the nuts removed from Step 1 and tighten them to 20 ft. lbs. Refer to the 
diagram below for the proper positioning. 
 
Step 3:  Position the Light Bar/Pre-Runner between the T12 Inner Brackets. Once positioned, hand-
tighten the Light Bar/Pre-Runner using  the  supplied  5/16”  Bolts,  Nuts,  and  Washers. 
 
Step 4:  Move the Light Bar/Pre-Runner into its final position. Make sure to look for your desired 
clearance between the light bar and bumper. Once positioned, tighten to 15 ft. lbs. 
 

 
Products licensed to N-FAB Inc., by Fichter Designs, are protected by US Patent Law and International Copy Right Law. US Patent #6588783, # 
6874801, #7416202 apply. Other patents and continuances are pending. Fichter Designs products configurations are also protected by International 
Trade Dress Law.  All Design and Patent infringements will be prosecuted to the full extent of the law.   

Products	
  Licensed	
  to	
  N-­‐FAB	
  Inc.	
  by	
  Fichter	
  Designs	
  are	
  protected	
  by	
  US	
  Patent	
  Law	
  and	
  International	
  Copy	
  
Right	
  Law.	
  Protected	
  Patents	
  include	
  US	
  Patent	
  #6588783,	
  #6874801,	
  #7416202.	
  Other	
  patents	
  and	
  

continuances	
  pending.	
  N-­‐FAB	
  product	
  configurations	
  also	
  protected	
  by	
  International	
  Trade	
  Dress	
  Law.	
  All	
  
Designs	
  and	
  Patent	
  infringements	
  will	
  be	
  prosecuted	
  to	
  the	
  full	
  extent	
  of	
  the	
  law.	
  	
  

	
  
	
  

For	
  Technical	
  Support,	
  Please	
  Call	
  281-­‐880-­‐6322	
  
N-­‐FAB	
  Inc.,	
  12302	
  Shiloh	
  Church	
  Rd.,	
  Houston,	
  TX	
  77066	
  

Installation	
  Instructions	
  
Light	
  Bar	
  /	
  Pre-­‐Runner	
  
12-­‐14	
  Toyota	
  Tacoma	
  

Part	
  Numbers:	
  
T124LB/T122LH	
  


